Лингвистический конкурс 2009-2010 уч. год.






7 класс

1. READING

Read the text about buying a house in London. Circle the correct answers:
A, B or C.





Where to live in London
London is so big that there is a great choice of places to buy a house, but of course there are many things to think about such as price, transport, shops and green spaces. Here below are some of the districts you might want to look at.
WEST London
Ealing is about 12 km from the centre of town and on two underground lines. There are great shops and a canal which is a pleasant place to walk. South of Ealing are two areas you may want to think about. Brentford is becoming a very fashionable area to live, with modern flats built here. It is close to Kew Gardens, one of the most beautiful gardens in London. The other area is Acton which because it is close to the BBC studios, is a place where many BBC workers live.
NORTH London
To the west of Hampstead is Finchley.  North Finchley has a number of large family houses and the largest Japanese community in Britain. There are a lot of green spaces and the Northern Line underground runs through here. A cheaper area is around Finsbury Park, another beautiful green area. Fifteen minutes by underground from the centre of London, this is an area where prices are going to go up in the future.
EAST London

An interesting area is Beckton which used to be a very poor part of London but is now easy to get to because of the Docklands Light Railway and underground. There are many new houses and flats and it is very close to the London Docklands Airport. It’s not a great place for shopping but it isn’t too far from Stratford centre which is a big shopping centre. There’s a ski slope in Beckton and a big supermarket.  As prices nearer the centre of London go up, more people are looking for a house here.
SOUTH London
You can’t beat Greenwich next to the river with its market and park with beautiful views of the river. It is crowded and the traffic is bad it still feels like a village. At the top of the park is Blackheath, a real village with small arts and crafts shops and lots of nice restaurants. It hasn’t got many big shops but you can walk down the hill into Lewisham which is great for shopping. Blackheath isn’t on the underground but Greenwich is. You can catch a train from Blackheath to Charing Cross station.
1 It is pleasant to

A   walk from Ealing to Brentford.

B   walk along the canal in Ealing.

C   go shopping in Ealing.

      2    Finchley is

            A   north of Hamstead.

            B   in West Hampstead

            C   west of Hampstead
      3  Beckton
            A  is a very poor part of London.
            B   is near to an airport.

            C   has got lots of shops.

      4   Beckton
            A   doesn’t have any shops.

            B   is more popular than it used to be.

            C   is a long way from Stratford.

      5   There are beautiful views
            A   of Greenwich from the park.

            B   of Greenwich from the river.

            C   of the river from the park.

      6   Blackheath
            A   is crowded.

            B   is on the underground railway.

            C   is on a hill.




      (6 points)
2. VOCABULARY AND GRAMMAR
1).  Complete the sentences with the verbs in brackets in the correct form.

0 Last week I (take) ___ took__ two exams. I don’t know my results yet.
1 I (be) ________________ tired yesterday and this morning I (wake)

________________ up at ten o’clock.

2 I’m sorry, I (not see) _______________________ you there. It’s so dark

in here.

3 While you (talk) _________________ on the telephone, I (write) _________ 

two letters.

4 Look at this. I (find) _________________ it on the way home.
(6 points)

2) Complete the text with one word in each gap.

Dear Sir,

Theakston Hall is (0) __the___ oldest building in our village and is older (1) ___________
most buildings in the country. But, it isn’t as well known (2) ____________ some of

Britain’s castles and that is why it doesn’t get (3) _______________ visitors. 

In fact, last year, only 5000 people visited Theakston Hall compared to 200,000 visitors to Langley castle.

But there is a (4) _____________ to see here. Do you know (5) ____________ other

buildings which have a better collection of seventeenth-century furniture? We need more

visitors and more money or Theakston Hall will be lost. This can’t happen. It is (6)

__________________ important. We must tell the world now! 

Yours,

R. Harris  

  (6 points)

3) Complete each sentence with the correct word from the box.

	A quarter       A third       An eighth       divided by       equals       Half       minus       nought     per cent     (plus)       Point       times   


0 fifteen __plus___ fifteen = thirty
1 eighty-three _________________ twenty-nine = fifty-four
2 ninety-nine _________________ nine = eleven

3 three _____________________ thirteen = thirty-nine
4  __________________ of forty-four is twenty-two.

5 ___________________ of forty-four is eleven.

6 ___________________ of twenty-seven is nine.

7 ___________________ of sixteen is two.

8 Eight plus eight _____________ sixteen.

9 Ten _________________ of a hundred and fifty is fifteen.

10 ____________________ five is the same as one half.

11 Another word for zero is ____________________ .

(11 points)

4) Opposites: adjectives.
What’s the opposite of each word on the left? Choose from the words on the right.

0   strong



__weak____


attractive

            1   generous



__________


boring


2   exciting



__________


calm


3   simple



__________


careless


4   hard-working


__________


complicated


5   careful



__________


depressed


6   deep



__________


lazy


7   quiet



__________


mean


8   happy



__________


noisy


9   ugly



__________


untidy

           10  unusual



__________


sensible
           11  modern



__________


shallow
           12  silly



__________


(weak)

           13  tidy




__________ 


old-fashioned
           14  nervous



__________


ordinary


(14 points)

5) Anagrams.

An anagram has the same letters as another word, but in a different order.

Sort out these anagrams.

0   Change beard into something you can eat.


__bread___

1   Change asleep into a word used by polite people.

__________

2   Change below into a part of the body.



__________

3   Change cheap into a fruit.




__________

4   Change hated into the opposite of life.



__________
5   Change heart into our planet.




__________

6   Change rose into another word for painful.


__________

7   Change thing into the opposite of day.



__________

8   Change danger into a place outside the house.


__________

9   Change grown into the opposite of right.


__________

10  Change laid into what you do when you make a phone call.     __________

11  Change signed into what architects do.



__________
12  Change means into what Lucy and John are examples of.      __________
13  Change horse into the place where the land meets the sea.       __________
14  Change recent into the middle of a town.


__________

(14 points)
Total: 57 points

